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Assignment   – 1                Sub: Mathematics              Class: IV (Four)  
 

 

(Large Number) 

You know that largest 2 digit number – 99 

  Can you guess the largest 3 and 4 digit number. 

 4 digit number 

  The largest 3 digit number – 999 

  The largest 4 digit number – 9999  

Questions :– 

1. Write in figure. 

 a) Twenty seven thousands and eight – 27008 

 b) Seventy five thousand and fifty five. _________ 

 c) Forty nine thousand and forty nine. _________ 

 d) Sixteen thousand and one. __________ 

 e) Nine thousand nine hundred and ninety-nine. _________  

2. Write in word. 

 a) 1542 – One thousand five hundred forty two. 

 b) 7298 – ___________________________ 

 c) 6298 – ___________________________ 

 d) 3027 – ___________________________ 

 e) 4589 – ___________________________ 

 

 

 

 

Assignment   – 2                Sub: Mathematics              Class: IV (Four)  
 

 

(Place Value and Face Value) 

The value of a digit in a number is called place value. 

The face value of a digit always remains same. 

Ex. – 72546 find the place and face value of 5. 

   72546  

 5 occurs at hundred place 50 the place value is 500. 

 Face value is 5. 

Questions :– 

1. Find the place and face value of underlined digit. 

 a) 78256  b)  23976   c)  84207   d)  54284 

 e) 34246  f)  84324   g)  98672   h)  543281 

 i) 927024  j)  842367 

  

  



 

Assignment   – 3              Sub: Mathematics              Class: IV (Four)  
 

 

(Expanded and Short Forms) 

Expanded Forms – When we write a number as a sum of place value of its digits the 

     number is said to be in expanded forms. 

 Ex- – 754231 

  700000 + 50000 + 4000 + 200 + 30 + 1 

Short Form – When we write a number using digits the number said to be in short form. 

 Ex. – 70000 + 5000 + 700 + 80 + 9 

   75789 

Questions :– 

1. Write in expanded forms. 

 a) 72965 – 70000 + 2000 + 900 + 60 + 5 

 b) 32962 – ______________________________________ 

 c) 89504 – ______________________________________ 

 d) 28689 – ______________________________________ 

 e) 54238 – ______________________________________ 

2. Write in short form. 

 a) 50000 + 7000 + 200 + 60 + 1 = 57261 

 b) 90000 + 6000 + 100 + 50 + 5 = __________________ 

 c) 300000 + 60000 + 200 + 70 + 9  = __________________ 

 d) 200000 + 80000 + 3000 + 200 + 5 = __________________ 

 e) 100000 + 90000 + 5000 + 900 + 50 + 8 = __________________ 

 

 


